P2 5FF 1 OEHE TBEBR COBZEDEEE—BTORENFLE

-~ wBHS5T TIPS IRapiich
_ ) = [nfanlnlazx/nae[ma(re|lrwae/riaaleclr|saan|elswa[r[e]x
ARBSHIUHRE G |5BBRIB BB AN R R D R R R R R R8P R B
Flw|=| |mis|® 6 mn B | wale B8 %8 9le sz -|s=le=n
B R BE| — |k B|S| A|B X B|— 8 &R T =B E®BFEB RN 2R
TETRERRRLRERE I 5L C
14|SS20CHI SRAD-FEHEIS | TR | O 0| 0000|000/ 0/0|0|0[0/0/0|0/0/0/0/0|x x| x|x00]x|0j0ofx|0
2451
25| W2 SEEEEHI—RRIHTE Zm|o|o|o|o|o|0|0|o|o|o|0o|0|0|0o|0|0|0|0|0|0|o|o|ofofofx|x|x|0o|x]|x]|O
26| J B2 OFRESTERRRRREAZ | gn|o|o|o|o|0|0|0|0|0|0|0|0|0|0|0|0|0|0|0|0|0|0|0|O|O|O|0|x|0fOo|x%x|0O
27| FHZ SFREBPERBRHEERSE | | o|o|o|0|0|0|0|0|0|0|0|0|0|0|0|0|0|0|0|0|0|0|0|O|o|o|o|x|0ofo|x%x|0

OR&R XERxY  XER JIFESESRRICINDDIEEA

1/2R=



2/2R=2



